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T1 mérés: 3 4 5 6 7 8 9 10 11 12 T o[ +H-|+ z % osztalyzat
NEPTUN-kéd zh [mn| Jk zh |mn| jk | zh [mn| jk [ zh [mn]| jk | zh imn| jk | zh [mn]| jK | zh imn] jk [ zh [|mn] jkK | zh Imn| jk | zh |mn| jk
1. [BJIVRF 25 | 5 | 20 25 | 41 20| 24| 5|20 25|5]19|23|5|20]|25|5]20|25]| 5 19 | 25| 51202552019 | 5] 18] 486 | 0| O] 486 | 97,2% 5 (jeles)
1. [D5Q59E 23 | 5] 20 19 | 4 | 20 | 22| 5|20 25|5]19|15| 5|20 25|5]20]|15] 5 19 | 22| 5] 20| 25| 5|20 18| 5] 18] 454 | 0] 0] 454 |90,8% 5 (jeles)
2. |WKZ5KE 22 | 5 18 25 | 5 2 21 512018 | 5] 19| 25| 5|19]|22|5]20|22| 5| 2024|520 25|5|19[25|5|20]| 456 | 0[O0 456 |91,2% 5 (jeles)
2. |[DIOATZ 24 | 5 18 25 | 5 2 19| 5120122 | 519|124 |5|19]22|5]20]|22]| 5] 20|24, 5][20]|25|5|19[18 | 5| 20| 452 | 00| 452 |90,4% 5 (jeles)
3. |EQTJRU atlag 20 | 4 13 1115 4 |165| 15| 3| 16|15 3 15|18 | 4| 16|13 | 4|14 |14 | 5 14 | 23| 5|14 | 25| 5|14 16| 5|17 362 | 0| 0| 362 |72,4%| 3 (kdzepes)
mérés 7 4 17
pétmérés 16 | 4 16
3. |BQATM1 atlag 13,5/45|125(125| 4 |165|16 | 3 |16| 19| 3| 15|14 | 4|16 20| 4| 14|18 | 5 14 | 22 | 5114|125 5| 14| 25|5 |17 | 377 | 0] 0] 376,5| 75,3% 4 (j6)
mérés 6 4 13 7 4 17
potmérés | 21 | 5 12 18 | 4 16
4. |IXZGGEJ atlag 11 | 5 1145 13 |35|195| 17 | 5| 1917|4120 14 | 4|16 |17 | 2| 17|16 | 5 17 1 20| 5116 | 25| 4| 10|19 | 5]18]| 379 | 0] 0] 3785 | 75,7% 4 (j6)
mérés 6 5 13 7 4 19
potmérés | 16 | 5 | 16 [ 19 | 3 | 20
4. |OK15A9 atlag 145| 5 14514535195/ 18 | 5|19]|19| 4| 20|16 |4 |16|19| 2| 17|19 ]| 5 17 | 21| 5]16| 17| 4|10|19|5|18| 387 | 0] 0] 386,5|77,3% 4 (jo)
mérés 8 5 13 7 4 19
potmérés | 21 | 5 16 22 | 3| 20
5.|G21MC3 25 | 5|1 17|20 | 2|17 | 24| 5]19|25]|4|19]|16|[5]18|25]|5|18| 24| 5| 20|25/ 5|20f[25|5]|19[18 5|19 459 | 0] 0] 459 |91,8% 5 (jeles)
5. |[XDSV11 23 | 5 17 21 | 2 17 |18 | 5119|254 19|17 | 5|18 | 25| 5|18| 20| 5| 20|24 | 5|20 24 |5 |19(18 | 5| 19| 447 | 0| 0| 447 |89,4% 5 (jeles)
6. |O4VB2E 22 | 5 17 10 | 4 17 | 21| 5119|120 5]19|18| 52024 |5|20|20| 5| 20|22 |5|20]|24|5|19|18 | 5| 18| 437 | 0| 0| 437 |87,4% 5 (jeles)
6. [IEFCDO 22 | 5 17 10 | 4 17 120 511921 | 5]19|12|5|20]16| 5] 20|18 | 5| 20|22 | 5[20]| 2451916 | 5| 18] 419 | 0| 0| 419 |83,8% 4 (j6)
7. |FKDOOH atlag 19 | 4 | 13| 16 |35|155| 10| 3| 16| 17| 5|20 20|5]10|15|5|16|15| 5| 10184 |13[14|5|17[15|5|15( 349 | 0| 0| 349 |698%| 3(kdozepes)
mérés 12 | 3 16
poétmérés 20 | 4 15
7. |QRTTQZ atlag 11 | 4 13 |185|35|/155|/10|3|16|10|5|20|13|5|10|15| 5|16 9 |45|115|14 | 4|13|14 |5 |17 | 19| 5| 15| 315 [-10[ O | 304,5 | 60,9% | 2 (elégséges)
mérés 1 3| 16 8 5| 10
poétmérés 16 | 4 15 10 | 4 13
8. |DOICPN 23 | 5 18 10 | 4 16 | 17| 4|18 | 25| 4| 13| 23| 5|17 17| 5] 19|19 | 5 10 | 24| 514|120 5| 16| 20| 5]19] 405| 0] 0] 405 |81,0% 4 (j6)
8. |H1FIZB 19 | 5 18 14 | 4 16 | 14| 4118|194 | 13|10 5|17 11| 5] 19|17 | 5 10 | 22 | 5114|121 | 5] 16|18 | 5]19] 372 | 0] 0] 372 |744% 4 (j6)
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T2 mérés: 3 4 5 6 7 8 9 10 11 12 > [+ + z % |osztalyzat
NEPTUN-kéd zh i/mn| jk | zh [mn| jk [ zh imn| jk | zh [mn| jk | zh [mn] jk | zh {[mn| jk | zh [mn| jk | zh [mn| jk [ zh |mn| jk | zh [mn| jk
1.[A35CUT 18 5116|110 5[16]|23| 5|17 24| 5|20[25]5/16|25|5|20[22|5/20|25]5|18|25|5|19|24 5|20 453 [0 0 453 |90,6%| 5 (jeles)
1.[S8ALY2 atlag 16 | 5|16 22| 5|16|14|5|17|22|5|20|19|5|16(165/ 5|195/12 | 5| 20| 20| 5|18|22|5|19|25| 5|20 420 | 0|14 434 |86,8%| 5(eles)
mérés 9 5] 20
potmérés 24 | 5] 19
2.|1C4X43Y 20 511925 5/20|25[5]19]|21|5]20|24|5]18(19|5]18|23|5]17(24|4]119|24|5]19|25|5|20] 468 |0] 0| 468 |93,6%]| 5 (jeles)
2.|DX18YK 22151191195 [20]|24|5]19|22|5|20)|25|5]18|25|5 |18 |24 |5 /1724|419 24|5/19[25|5|20| 472 |0 0]| 472 [94,4%)| 5 (jeles)
3.|BF4VCU 19| 5117111 ]5[18]|20|5]18|21|5|20(18]5/18|22|5|20(25|5)/18|20]4 /18|21 |5|19|25|5 |18 43500 435 |87,0%| 5 (eles)
3.|PTIVTG 14| 5/17(19|5/18|17|5/18[14|5|/20|17|5/18|25|5/20|20|5|18| 22| 41819 |5|19|22|5 |18 422 |0) 0| 422 |84,4% 4 (j9)
4.|FVUWHS 20 51141171 3[14)119|5 1715|518 22|5]18|23 |5 /19|21 |5,17(23|5|17[25|5/20[20| 5|17 | 42410 0]| 424 [848% 4 (j9)
4.|V2CEDR 17|/ 5/14(25|3 /14|21 | 5/17|16|5/18|25|5/18[19| 519|211 |5|17|23|5|17|23|5|20|25|5| 17| 434|0) 0 434 |86,8%]| 5(eles)
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T3 mérés: 3 4 5 6 7 8 9 10 11 12 > [+ + z % osztalyzat
NEPTUN-kéd zh i/mn| jk | zh [mn] jk [ zh imn| jk | zh [mn| jk | zh [mn]| jk | zh Imn| jk | zh {[mn] jkK | zh Imn| jk | zh [mn| jk | zh |mn| jk
1. |[EMXHO7 17|/ 5/12(11|/5|15{10|/5/18[10|/5|19|21|5/17{10|/5|20|[16 |4 |/12[16|5|15[19 |5 20|25 1|14[362|0[0]| 362 [72,4%]|3 (kozepes)
1. |GQWXJ2 14|/ 51212 | 51521 |5/18(13|5/19|16 |5 /17|15 |5/ 20|20 | 4/12|20|5|15[10| 5| 20|25 | 1|14 | 373|0[0]| 373 [746% 4 (j9)
2. [UGT4R4 22151517 5(19]|19|5]17]|15]|5[18|21|5]19]|21|5|20|15|5]20]|23|5]13|18|5] 17 |22|5|18)| 419 |0]|0]| 419 |838% 4 (j6)
2. [R2E34R 18| 5/15(15|5/19|20| 5|17 24|5/18|25|5 /1911 5|20|20|5 /20|11 |5 |13|[16|5| 17 | 25| 518|411 |0[ 0| 411 [822% 4 (j9)
3. [0Y77MO 18/ 4 /1716|516 20| 5/18(25|5/19|16|5/18[(10| 51813 |4 /14|23 |3|19|[24|5)| 14|18 |5 |16| 398 |0[ 0] 398 [79,6% 4 (j6)
3. [AD2JLU 18| 4 /17|12 | 5|16 17 |5/18(19|5/19(18 |5 /1815|518 |13 |4 /14|16 |3 |19|25|5| 14|18 | 5| 16| 386 | 0[ 0| 386 [772% 4 (j9)
4. |MQPI3R 24151525 5|15]|21|5]19]|24]|5|20|21|5]18]19]5|20]|20|5]10]23|5]14]|16|5] 16 |25]|5]20)| 435|0| 0] 435 |87,00 5 (eles)
4. |IHNUZN atlag 22| 5]115]|17|5|15]|21|5]19|22]|5|20]|21|5]18|13|5|20|21|5]10|23|5|14|16|5|175|25|5|20) 420 0] 0] 419,5]83,9% 4 (j6)
mérés 7 15| 16
potmérés 25| 5] 19
5. |BFFP3U 25| 511210 5/16|24|5]|20]|25|5]20|24|5]16(22|5|18|25|5]10)|13|3[18]|13| 2|19 [25]|5]|16[416[0[0]| 416 |832% 4 (j6)
5. [CBOB60O 20/ 5]12]12|5|16|22|5]20)|16|5|20)17|5]16|17|5|18|16|5]10)18|3]18|15| 2| 19 |18 |5 |16) 381 |0| 0| 381 |762% 4 (j6)
6.|0JQGVL atlag 10| 5/15| 9 | 5|16|21|5|16|12|5|19(16|5|18|24|5[14|21|5|13|19|5|18(22|5)| 1815|218 381 | 0| 0] 381 [76,2% 4 (j6)
mérés 8 5] 14
potmérés 10 | 5| 18
6. [ZGNPIH atlag 15/5|15(12|5|16|19|5|16|(11|5|19|14 |5 /18|16 |5|14|18|5|13|21|5|18|16| 5| 18 |18 | 2|18 | 372 | 0| 0| 372 [744% 4 (j6)
mérés 8 5| 14
potmérés 16 | 5| 18




